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2 – 3 = -1 

5 – 7 = -2 

7 – 8  = -1 

8 – 12  = -4 

7 – 9  = -2 

6 – 9  = -3 

9 – 10  = -1 

8 – 8 = 0 

1 – 6 = -5 

3 – 10 = -7 

3 – 20 = -17 

4 – 30 = -26 

11 – 59 = -48 

17 – 42 = -25 

12 – 48 = -36 

 

7 + - 5 = 2 

9 + - 5 = 4 

7 + - 7 = 0 

6 + - 4 = 2 

10 + - 9 = 1 

14 - + 8 = 6 

11 - + 9 = 2 

21 - + 16 = 5 

19 - + 6 = 13 

45 - + 21 = 24 

28 + - 31 = -3 

34 - + 43 = -9 

21 - + 35 = -14 

19 + - 84 = -65 

122 - + 147 = -25 

 

3 - - 7 = 10 

8 - - 13 = 21 

4 - - 10 = 14 

13 - - 11 = 24 

37 - - 7 = 44 

43 - - 51 = 94 

110 - - 90 = 200 

303 - - 43 = 346 

999 - - 99 = 1098 

 

- 6 + - 5 = -11 

- 8 - 1 = -9 

- 4 + - 7 = -11 

- 9 + - 3 = -12 

11 + - 4 = 7 

- 7 - - 11 = 4 

- 7 - - 4 = -3 

- 14 - - 6 = -8 

- 31 - - 4 = -27 

- 3 - - 15 = 12 

15 + - 25 = -10 

- 10 - + 40 = -50 

- 24 - + 36 = -60 

160 + - 180 = -20 

- 111 - + 236 = -347 

 

This number line might LOOK boring – but it’s very USEFUL! 
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